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PART—I
( LANGUAGE )

Directions (Q. Nos. 1 and 2) : Fill in
the blanks with suitable articles like

5. Rainy season comes before

A .
‘a’, ‘an’ and ‘the’ : (A) winter
(B) spring
1. There are 30 or 31 days in
(C) summer
month.
(A) the (D) More than one of the above
B) a (E) None of the above
(C) an
(D) More than one of the above 6. The eighth month of the year is
(E) None of the above A) July
2. My father is engineer in (B) September
the Water Works Department. (C) October
(A) the
(B) an (D) More than one of the above
(C) a (E) None of the above

(D) More than one of the above

(E) None of the above 7. Sister-in-law is

3. Which of the following is a part (4) husband’s sister

of bedroom? (B) wife’s sister
(A) Pillow

(B) Table lamp

(C) Curtains

(D) More than one of the above
(E) None of the above

(C) brother’s wife
(D) More than one of the above
(E) None of the above

8. Cousins are
4. Which of the following is a part

of a room? (A) maternal

(A) Window (B) paternal

(B) Ceiling (C) siblings

C) F1

(C) Floor (D) More than one of the above
(D) More than one of the above

(E) None of the above (E) None of the above
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9.

10.

11.

12.

‘Ftét’ weg # w-w w@s R?
(A) FeFaTE G

(B) Sifererr=res &=

(C) wTeaT=I BT

(D) 3wtk # & T @ enferen
(E) 3w & & 18 7t

fferfiad wsdl § & FH-w1 TehawH 77
(A) TEER

(B) BFm

(C) =g

(D) 3w U | UH A Al

(E) 3w & & 18 7

fe=dt vl § ‘g’ w1 A fRg Ao %
o8 A1 2°

INBEERE IS

(B) I o 9

(C) = % 94T

(D) 39w H ¥ TH ¥ M
(E) 3w & & 18 7t

‘ot 7' gwaE 2, 38 a3\
AR | -1 T 27

INBREEREIEES

(B) TEeam®

(C) gruaT=h

(D) 39w H ¥ TH ¥ M
(E) 3udth # & 1S T
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13.

14.

15.

16.

oo =61 g g - TE R
(A) sTETETHe forRreor

(B) U= fergrem

(C) ufwTET fergmor

(D) 3T | ¥ UH ¥ 1M+

(E) 3udth # @ 1S T

frfefaa & & F=-1 3735 7ee 27
(A) dvew

(B) FH

(C)

(D) 39w | ¥ UH ¥ M+

(E) 3w & @ 18 7

frfafaa 9 @ &F-81 g Fd- aren
MR

(A) &b

(B) &=

(C) =TT

(D) 39w W | TH § Afh
(E) 3udth # & g T

frfefiga & @ =-a1 “qom’ e 7
(A) R

(B) w®

(C) =%

(D) 39w W | TH § Afh

(E) Sudth # & #1$ T

[P.T.O.



17. Tfafad § & wm-w1 foesft s &7

18.

19.

20.

(A) =T

(B) wiieEn

(C) =m

(D) 3w & ¥ wh @ Afeek
(E) 3w & & 18 7t

=T % R WA 3sa] & @e g
8 3% FH-91 I el AT &7

(A) w3

(B) i

(C) InTEg

(D) 39w H ¥ TH ¥ M
(E) 3udth # & #1$ T

frfafaa @ 4 fra o 0 ‘edw
fop” 27

(A) 38 Ta TR |

(B) fetert et 21

(C) ¥a% & | TR 9T 2|

(D) 39w | ¥ UH ¥ M+

(E) 39tk # & 1S T

freferfad & & F-1 39 wTeg 27
(A) mEmr

(B)

(C) waw

(D) 39w | ¥ TH ¥ M

(E) Sudth # & #1$ T
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21.

22.

23.

24.

frafafaa & @ ®F-a1 st ¥ wse T
37

(A) <R

(B) Steaum

(C) wefs

(D) 39w U | UH A Al

(E) 3wt § @ #1g T

‘@i’ fope a1 Tee 87
(A) Tl

(B) Wt

(C) Tl

(D) 3UYh H § TH ¥ Al
(E) 3w & @ 18 7t

IE 3N IE T B HH-a1 TH T
g &7

(A) HIEATRHI—RIHR

(B) g—Po

(C) WTRTH—HETeH

(D) 30w W | TH § Afh

(E) 3w & & 18 7t

“Ioem afos SSEd 2 T o9 ®
Eifehd wsg I g AT hi-HT B7

(A) S

(B) $sc

(C) 3saa

(D) 3w U | UH § Afh
(E) ST 4 4 & 7
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25. UF B2 IMHd 1 THhIAT o, S A

26.

27.

W forefl fog 1 feufa =1 w18 e g,
3W 1 HEd 87

(A) FER

B) fm

(C) wTe

(D) 3w W | TH § Al
(E) 39w | & &g T

‘FFEF o G HT FT TH 27
(A) =Thaly

(B) =R uigeh

(C) Hfvrcfieror 70

(D) 39w | ¥ TH ¥ M
(E) 30 § & =+ T

“Srarer B are e |
gId g3 Heeld, Sig-arg &g Ma |l

I HTI-UTRAT T HH-91 T 27

(A) Fm

(B) ®

(C) daTced

(D) 39w | ¥ TH ¥ M
(E) 39w # & &8 7
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28. &= Wil % 3gWE &1 el HHT ST 2

29.

30.

(A) 500 3o go

(B) 500 %o

(C) 1000 3o

(D) 3 U | UH A Afh
(E) 3w & @ 18 Tl

e A b 1 B e 4 G B =i
fetrfem, wnfimrt vd g gfas Ame @6t
EZdRIRI

A) diRafera

(B) ¢fiem

(C) R vura

(D) 39w W | TH § Afh
(E) 3udth # & 1S T

o wedl W fom, a=H, R # owE
9 9 U2, 9 FEAd &

(A) ==

(B) o=t

(C) Afrrdt

(D) 39w | ¥ TH ¥ 3=
(E) 39w # & &8 T

[P.T.O.



31.

32.

33.

PART—II
( GENERAL STUDIES )

The floor of a rectangular hall
has a perimeter 250 meters. If
the cost of painting the four
walls at the rate of 10 per
(meter)? is € 15,000, then the
height of the hall is

(A) 7 meters

(B) 16 meters

(C) 6 meters

(D) More than one of the above

(E) None of the above

Which of the following
statements is not true?

(A) Every natural number is a
whole number.

(B) Every integer is a whole
number.

(C) Every natural number is an
integer number.

(D) More than one of the above
(E) None of the above

The average of 7 consecutive
numbers is 20. The largest of
these numbers is

(A) 20
(B) 21
(C) 23

(D) More than one of the above

(E) None of the above
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34. The equation ax?+bx+c=0 has

35.

two distinct real roots, if

(A) b%-4ac<0

(B) b%-4ac>0

(C) b%-4ac=0

(D) More than one of the above

(E) None of the above

Mohan can do a bit of work in
25 days which can be completed
by Sohan in 20 days. Both
together labour for 5 days and
afterward Mohan leaves off. How
long will Sohan take to complete
the remaining work?

(A) 20 days
(B) 11 days
(C) 14 days

(D) More than one of the above

(E) None of the above



31.

32.

33.

PART—II

( GENERAL STUDIES )

T IAAHR B & B hl IRy
250 Hier g1 gfe & 10 ufa o e
WY I AaE U = H A
¥ 15,000 2, a1 gt il ST 8

(A) 7 Hi

(B) 16 #ix

(C) 6

(D) 39w H ¥ UH ¥ M+

(E) 3w d ¥ =I5 T

fefafga & @ FH-w1 w9

T 27

(A) T WTHd WA, TH 0w B

(B) Yk qUIieh, Teh qUT G B

(C) Y% UIHd €&, TH YUl
e 2|

(D) 30w W | TH § Afh

(E) 37d & & 18 T

7 HHATG AT 1 3fEd 20 21 TH
Y oy 99 O ©

(A) 20

(B) 21

(C) 23

(D) 39w | ¥ UH ¥ M+
(E) 3udth § & #1$ T

24 /HV/M-2023-16/S5 (HS)/240-A 7

34. T F0 ax2+bx+c=0 % d fiE

35.

rEdfae ge i, Al

(A) b%-4ac<0

(B) b%-4ac>0

(C) b%-4ac=0

(D) 3w U | UH A Al

(E) 3w H © %18 T

e 25 T # uh wm 9 e B
@ @ 20 f it & 9u s wehar 2|
Al U |y 5 Tt & fou o a2
3R 3Gk 18 Higd H BIS ol gl AT

F P QU A H died Hl o am
Y

(A) 20 f&
(B) 11 f&
(C) 14 f&
(D) 3w W | TH § Al

(E) 37 & & 18 e

[P.T.O.



36.

37.

38.

If X=a°-b?
a+ b =15, then

Y =30 and

(A) X is lesser than Y if a=b
(B) X is greater thanY ifa> b
(C) Y is greater than X ifa=b
(D) More than one of the above

(E) None of the above

The probability of a non leap
year selected at random will
contain 53 Sundays is

1
(A) =
2
(B) =
1
(©) =3

(D) More than one of the above

(E) None of the above

If 7126 = 493x+12 " then the
value of x is

A) 3
(B) 4
C) 7

(D) More than one of the above

(E) None of the above
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39. Myopia is a disease in which a

40.

41.

person cannot see
(A) distant objects clearly
(B) nearby objects clearly

(C) nearby as well as distant
objects clearly

(D) More than one of the above

(E) None of the above

The term ‘heredity’ chiefly refers
to

(A) anatomy

(B) meiosis

(C) genetics

(D) More than one of the above

(E) None of the above

in which food is
packed are coated with tin and
not zinc because

The cans

(A) tin is more reactive than
zinc

(B) zinc is more reactive than
tin

(C) zinc is costlier than tin
(D) More than one of the above

(E) None of the above



36.

37.

38.

afs X =a?-b?,
a+b=157%,

A) XBizYydaaka=hb

Y =30 du=@

(B) Xagig Y@ARa>hb
(C) YSeig X¥aa=h
(D) 39w H ¥ UH ¥ M+
(E) 3w & @ 18 7t

gfoa® €9 ¥ FH T TH - a9 |
53 oaR g4 =t TiReRar 8

1
(A) =

(B) =3

1
(©) =3
(D) 30w W | TH § Afh

(E) 3w | ¥ 18 e

-qﬁ 712X+6 — 493x+12 —Eﬁ, ?ﬁ x &1
GIChd

(a) 3

B) 4

(C) 7

(D) 3w W | TH § Afh
(E) 3udth # & #1$ T
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39. wEifuan T sw g, e whte @

40.

41.

EERICIR

(A) T H L T ¥ Y

(B) U il IEIE TE €Y Y

(C) T8 & qT T I U T &9 H
(D) 39w | ¥ TH ¥ M

(E) 393t o & 18 T

‘SEfERdT Y gEd w9 ° fRg
Hafilq st 27

(A) IRR-T=AT

(B) regEht favsH

(©) st

(D) 3w ® § TH ¥ fh
(E) 3udth § & #1g T

o fesai & @ ¥ fom San g, A
R fo & wa = Bt & 7 R 5w A
FifR

A) fH, & H g # Al
fefsramefier

(B) T, &7 & gam # Afees
fefspramefier

(C) 5=, fmaweme
(D) 39w U | TH § Al
(E) 37 & ¥ 18 e

[P.T.O.



42. The process in which 44.

atmospheric carbon dioxide is
converted into carbohydrates
during photosynthesis is

(A) oxidation

(B) reduction

(C) hydrolysis 45.

(D) More than one of the above

(E) None of the above

43. The quality of a printer is
determined as

(A) words per inch

(B) strike per inch

(C) dots per inch

(D) More than one of the above

(E) None of the above

46.

Trachoma disease is related to

(A)
(B)
(C)
(D)

(E)

lungs

ears

eyes

More than one of the above

None of the above

Which of the following makes
use of Newton’s third law of

motion?

(A) Archery

(B) Space rocket

(C) Venturimeter

(D) More than one of the above
(E) None of the above

Particles which can be added to
the nucleus of an atom without
changing its chemical properties

are

(A)
(B)
(€)
(D)

(E)

neutrons

electrons

protons

More than one of the above

None of the above
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42. g Yihar, ad Tme-wvame & SH

43.

IYE TAT wEA SEATFERS  H
Fratergee § giatdd o Sar g, 2

(A)  ATereTeRToT

(B) 1q==A

(C) STeft-forgereoT

(D) 39w H ¥ UH ¥ M+

(E) 3T | ¥ *18 e

wF e & o frea fetfa d
STt 27

(A) e ufd 3=

(B) WER Ui ¥

(C) forg wfa &=

(D) 30w W | TH § Afh

(E) 37 | ¥ 18
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44, HET T H qER 7

45.

46.

(A) wwEt @

(B) &M ¥

(C) =At@i @

(D) 39w | ¥ TH ¥ M

(E) 39w & & &g T
frefefaa & & F-a = % T
ek fw o1 3T T 87

(A) e

(B) 37afted Wehe

(C) e

(D) 3w W | TH § Al

(E) 3udth # & 1S T

O o I SaREfid T@d ge T
TIHTY] o AT | SIS ST aTet T §
(A) =g

(B) FwgH

(C) Wi

(D) 39w | ¥ UH ¥ i

(E) 39w # & &8 7

[P.T.O.



47. Before Elon Musk announced

48.

49,

change of the signature Blue
Bird logo to Sign X’ logo, who is
regarded as the creator of
Twitter’s iconic Bird in its final
version in 20127

(A) Jack Dorsey

(B) Martin Grasser

(C) Noah Glass

(D) More than one of the above

(E) None of the above

Who is the Director of the
famous film Oppenheimer, a film
about high-concept
released this year?

science,

(A) Christopher Nolan

(B) Guy Ritchie

(C) Laura McGann

(D) More than one of the above

(E) None of the above

Which one of the following has
pulled out from hosting the
2026 edition of Commonwealth
Games due to huge estimated
expenditure on its organization?

(A) London, UK

(B) Kuala Lumpur, Malaysia
(C) Victoria, Australia

(D) More than one of the above

(E) None of the above

24 /HV/M-2023-16/S5 (HS)/240-A

50. What is the full form of INDIA, a

51.

recently formed alliance of
opposition political parties?

(A) Indian National Develop-
mental Inclusive Alliance

(B) Indian National Develop-
ment for Improvement
Alliance

(C) Indian National Develop-
mental Inclusive Associa-
tion

(D) More than one of the above

(E) None of the above

What message was sent by
Chandrayaan-2 lunar orbiter to
Chandrayaan-3’s lander module
when it established contact with
it in August 20237

(A) “Welcome home”

(B) “Chalo
chalein”

chand ke paar

(C) “Welcome, buddy”

(D) More than one of the above

(E) None of the above



47. TEH W FN MUR & 98 @rn @

48.

49.

TRt X A o =F Y uEd,
2012 ¥ 1 AfH "eRor H g %
yiafsd =< % i & &9 # fra A7m
I

(A) S et

(B) wféT ame

(C) eI T&@E

(D) 3w U | TH A Afh
(E) 3udeh # & 1S T

30 a4 ellsl g8 I=-3auron g™ &
IR § yttg fhen “afioeem’ & v
HH 87

A) e TeH

(B) s =t

(C) < B

(D) 39Y® | ¥ TH ¥ M

(E) 3w & 9 18 T

Freafafaa & @ fFoa w51 welt &
2026 TR H ASEHT F THh
FRSH W 9 STFATHG 2T o R0
IO A AT9E o forn 87

(A) @&, Fo ho

(B) FAAR, AARTN
(C) foertfeam, sitefern
(D) 39w H ¥ UH ¥ M+
(E) 3udth # & 1S T
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50. g g # od fquefi usHifas e &

51.

13 (R e

T INDIA %1 qUiEq -1 37

(A) 3T THA STUHeA  EME

AATTH

(B) 3fead JvHd STcUHE HR IHEHE
FATH

(C) e THE Sa@uHeA  IFd
LEIELE]

(D) 39w | ¥ UH ¥ i+

(E) 37 & & 18 e

A 2023 § T wEAE-2 Wg
e T I5AH-3 & ik uiegd o

groes Tefud R, df 3EY 39 T EeW
AT oY

(A) “Sorwm T

(B) ‘=it =g % ur =t
(C) “‘ScTewm, Tt

(D) 39w H ¥ UH ¥ M
(E) 39w # & 18 T

[P.T.O.



52. Name the former President of

53.

54.

China who crushed the pro-
democracy movement in 1989.

(A) Mao Tse Tung

(B) Yang Shangkun

(C) Jiang Zemin

(D) More than one of the above

(E) None of the above

Who has elected for the second
term as Ireland’s Prime
Minister?

(A) Sanna Marin
(B) Robert Abela
(C) Leo Varadkar
(D) More than one of the above

(E) None of the above

African Union was made a
permanent member in the G-20
Summit held in India. Who is
the Chairman of the African
Union?

(A) Azali Assoumani

(B) Justin Trudeau

(C) Ursula von der Leyen

(D) More than one of the above

(E) None of the above
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55. As per geographical area,
arrange the following physio-
graphic units of India in

56.

ascending order

1. Central highlands
2. Great plains

3. Coastal plains

4. Northern Mountains

Select the correct answer using
the codes given below.

A 3,1,2,4
B 1,2, 3,4
< 2,4,1,3

(D) More than one of the above

(E) None of the above

Arrange the following ranges
from North to South in
sequence :

1. Ladakh

2. Karakoram
3. Pir Panjal
4. Zanskar

Select the correct answer using
the codes given below.

A) 1, 3,2, 4
B) 2,1,4,3
< 3,4,1,2

(D) More than one of the above

(E) None of the above



52.

53.

54.

1989 U dlhasl Gwde IT<Icd i

FaeH ard FH1 % 99 Ugafd w AW
fefiam |

(A) ST & g

(B) = WA

(C) fomrm Siftm

(D) 30w U | TH § Afh

(E) 3udth # & 1S T

APRSlE & TAEEA F ®T OF g
FrdeRtet & fore fordr gm e 27

(A) &= wH

(B) e el

(C) fort strga

(D) 39w | ¥ UH ¥ M

(E) 3udth # & #1$ T

IRa # TG si-20 R awes d

FER Y Rl TR ¥ ST T
TR G5 % 7L Hi 87

(A) T e

(B) et g2t

(C) 3G aH X TH

(D) 39w | ¥ TH ¥ M
(E) 39w # & &g 7
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55. WFlifeh &% & gaR, 9Rd &

56.

15 (R

FfaRaa e (Tefsammtes) st
1 TR ¥ H ATEd HIT :

1. s =9
2. HgH AeH
3. W HeN

4. 398 v
f= fow T g W oW W EE W
el

A) 3,1,2, 4
(B) 1,2, 3, 4

(C) 2,4,1,3

(D) 39w | ¥ UH ¥ M
(E) 3udth # & 1S 7

frefaitaa aftml = s @ <y i
3N A | HAEId il

1. o€
2. THHIA
3. R U~

4., SR
= fau MU Fe W O W AE IW
Tl

A) 1,3,2, 4

B) 2,1, 4, 3

(C) 3,4, 1,2

(D) 39Y® | ¥ TH ¥ M
(E) 3udth # & #1$ T

[P.T.O.



57. During the monsoon season in

58.

59.

India, most of the cyclones have
their origin

(A) between 8°N and
latitude

13° N
(B) between 10°N and 15°N

latitude

(C) between 16°N and 21°N
latitude

(D) More than one of the above

(E) None of the above

Which of the following areas is
not landslide-prone area?

(A) Western Ghats

(B) Eastern Ghats

(C) Himalayan Regions

(D) More than one of the above

(E) None of the above

Which of the following coasts of
India is most affected by violent
tropical cyclones?

(A) Malabar

(B) Coromandel

(C) Konkan

(D) More than one of the above

(E) None of the above
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60. When

61.

62.

running water cuts
through clayey soils and makes
deep channels, they lead to

(A) gully erosion
(B) sheet erosion
(C) deforestation
(D) More than one of the above

(E) None of the above

Which of the following receives
heavy rainfall in the month of
October and November?

(A) Hills of Garo, Khasi and
Jaintia

(B) Coromandel Coasts
(C) Plateau of Chota Nagpur
(D) More than one of the above

(E) None of the above

Cultivation of fruits and

vegetables is called

(A) floriculture

(B) agriculture

(C) horticulture

(D) More than one of the above

(E) None of the above
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63.

64.

65.

66.

Who provided leadership in the
districts of Patna, Ara and
Shahabad during the Revolt of
1857 in Bihar?

(A) Raj Kumar Shukla

(B) Namdar Khan

(C) Kunwar Singh

(D) More than one of the above
(E) None of the above

The Partition of Bengal was
made effective on

(A) 14 October, 1905
(B) 15 October, 1905
(C) 16 October, 1905
(D) More than one of the above
(E) None of the above

The Quit India Resolution was
adopted by the Congress in
Bombay on

(A) 7 August, 1942

(B) 8 August, 1942

(C) 9 August, 1942

(D) More than one of the above
(E) None of the above

The British ruled India for a long

period due to the

(A) liberal
Congress

policies of the

(B) imprisonment of Indian

leaders
(C) policy of Divide and Rule
(D) More than one of the above
(E) None of the above
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67.

68.

69.

70.

Queen Victoria’s Proclamation

was issued on which of the

following dates?

(A) 1 November, 1857

(B) 27 March, 1858

(C) 1 November, 1858

(D) More than one of the above

(E) None of the above

Which of the following

statements is/are correct?

(A) Raja Rammohan Roy was
the pioneer of modern

education.

(B) Swami Dayanand
proclaimed India for
Indians.

(C) Vivekananda participated in
the Parliament of World
Religions.

(D) More than one of the above

(E) None of the above

Who among the following

became India’s unofficial

Ambassador to England?

(A) Surendranath Banerjee

(B) Dadabhai Naoroji

(C) Swami Vivekananda

(D) More than one of the above

(E) None of the above

Who described the Government

of India Act, 1935 as a ‘Charter

of Slavery’?

(A) Mahatma Gandhi

(B) Netaji Subhas Chandra
Bose

(C) Maulana Hasrat Mohani
(D) More than one of the above
(E) None of the above
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PART—III
( BOTANY )

71. Which one is hexose sugar? 74.

(A) Mannose
(B) Cellulose
(C) Xylulose
(D) More than one of the above

(E) None of the above

72. New systematics introduced by 75.

Sir Julian Huxley is also called
(A) phenetics

(B) cladistics

(C) chemotaxonomy

(D) More than one of the above

(E) None of the above

76.

73. An edible inflorescence is
(A) corymb
(B) catkin
(C) hypanthodium
(D) More than one of the above

(E) None of the above

Which of the following is the most
advanced phylogenetically among
the dicotyledonous families?

(A) Scrophulariaceae

(B) Acanthaceae

(C) Compositae

(D) More than one of the above

(E) None of the above

The descending arrangement of
categories is called as

(A) classification

(B) taxonomy

(C) hierarchy

(D) More than one of the above

(E) None of the above

Which one of the following
matching pairs is wrong?

(A) Bacterial cell wall—
Cellulose

(B) Bacterial ribosome—
16S rRNA

(C) Bacterial flagella—Protein
(D) More than one of the above

(E) None of the above
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PART—III

( BOTANY )
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77. Which of the following is 80. Which of the following fixes CO,

required as equivalent to in carbohydrates?

subspecies of classical

taxonomy? (A) Bacillus

(A) Ecospecies (B) Rhizobium

(B) Cenospecies (C) Rhodospirillum

(C) Ecotype (D) More than one of the above
(D) More than one of the above (E) None of the above

(E) None of the above

81. Which of the following
78. The flowers in raceme/racemose taxonomists  described  the
are arranged classification of plant kingdom
in ‘families of flowering plant™?
(A) acropetally
(A) Bentham and Hooker
(B) basipetally
(B) Cronquist
(C) centripetally

(C) Hutchinson
(D) More than one of the above

(E) N f the ab (D) More than one of the above
one o e above

(E) None of the above

79. Which of the following systems
of classification was used by

Carl Linnacus? 82. Gynoecium of Solanaceae is

(A) Phylogenetic system (A) monocarpellary

(B) Natural system (B) bicarpellary apocarpous

(C) Artificial system (C) bicarpellary syncarpous
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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83. Which of the following can be 86. Cohort is a group -correlated
seen only under electron with
microscope?
(A) genera
(A) Ribosome

(B) species
(B) Chromosome

(C) order
(C) Chloroplast

(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above

84. The plant whose seeds are 87. Archegoniate includes
known to have longest viability
period is (A) bryophyte
(A) Nelumbo nucifera (B) pteridophyte
(B) Triticum vulgare (C) gymnosperm
(C) Carica papaya (D) More than one of the above
(D) More than one of the above (E) None of the above

(E) None of the above

88. A prokaryotic autotrophic

85. Membrane bound organelles are nitrogen-iixing - symbion 1s
; found in
absent in
(A) Plasmodium (A) Pisum
(B) Streptococcus (B) Cycas
(C) Saccharomyces (C) Cicer
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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89. Which one of the following 92.
statements about Mycoplasma
is wrong?
(A) They are also called PPLO.
(B) They cause disease in
plants.
(C) They are sensitive to
penicillin.
(D) More than one of the above
(E) None of the above
93.
90. Polyadelphous  anthers are
present in
(A) sunflower
(B) lemon
(C) lady’s finger
(D) More than one of the above
(E) None of the above
91. The disease of potato respon- 04
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sible
Europe was caused by or late
blight of potato is caused by

for famous famine of

(A) Alternaria solani
(B) potato mosaic virus

(C) Phytophthora infestans
(D) More than one of the above

(E) None of the above

26

An example of axile placentation
is

(A) Argemone

(B) Dianthus
(C) Citrus
(D) More than one of the above

(E) None of the above

Which of the following flowers
shows heterostyly?

(A) Primrose
(B) Mirabilis
(C) Pisum

(D)

More than one of the above

(E) None of the above

Non-albuminous seed is

produced in

(A) wheat

(B) maize

(C) pea

(D) More than one of the above

(E) None of the above
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95. The specimen used for original

96.

97.

24 /HV/M-2023-16/S5 (HS)/240-A

publication by the author is
(A) isotype

(B) syntype
(C) paratype
(D) More than one of the above

(E) None of the above

Water-soluble yellowish pigment
present in petals of Dahlia is

(A) xanthophyll
(B)

anthocyanin

(C) anthoxanthin

(D) More than one of the above

(E) None of the above

The arrangement of xylem in
stem is

100.

(A) endarch

(B) mesarch

(C) exarch

(D) More than one of the above

(E) None of the above

28

98.

99.

In Calvin cycle for the fixation of
every CO, molecule, the
reduction and regeneration
steps require

(A) 3 ATP and 2 NADPH,

(B) 3 ATP and NADPH,

(C) 3 ATP and 3 NADPH,

(D) More than one of the above

(E) None of the above

More than half of the earth’s
flora and fauna are found in

(A) temperate forests

(B) deciduous forests
(C) tropical rain forests
(D) More than one of the above

(E) None of the above

The terms ‘protoderm’ and
‘procambium’ were coined by

(A) Hanstein

(B) Haberlandt
(C) Nageli
(D) More than one of the above

(E) None of the above



95. TE® I A YERW % [T Ug®

96.

97.

TR

(A) eTEEIEREd

(B) fomera

(C) TerEy

(D) 39w | ¥ TH ¥ M
(E) 39w & & &g T
sRfera 1 gt # e # e
e 1 Higg 2 ®

(A) Stenfee

(B) woEmEiH

(C) TR

(D) v & & uF & st
(E) 3udth # & 1S T

q T STEerm il e 2
(A) Ter

(B) TET

(C) wwaT

(D) 39w H ¥ UH ¥ M+
(E) 39w # & I8 T

24 /HV/M-2023-16/S5 (HS)/240-A

98. Hfcad =% H Y&k CO, 3 &

99.

100.

29 [ UHENAN e

fraior & fou werdt R gAsA =X
E] F TTaITIHRAT Bt B

(A) 3 ATP wa 2 NADPH,
(B) 3 ATP wd NADPH,
(C) 3 ATP wd 3 NADPH,
(D) 3w W | TH § Afh
(E) 3w § & g T

geeft I ot | e FmEdfaEi e
Sfte-s7g g ST &

(A) i 547 |

(B) guiTelt ot o

(C) Iwrhfeaef aufaai o
(D) 39w | ¥ TH ¥ M=
(E) 3udth # & 1S T

TG MY 97

(A) TEH

(B) @etee

(C) et

(D) 39w U | TH § Al
(E) 3w § 4 g T

[P.T.O.



101. Pericycle in roots is responsible 104. Yeast produces an enzyme
for complex that is responsible for

fermentation. This complex is
(A) formation of lateral roots plex

(B) providing mechanical sup- (A) aldolase

port (B) invertase

(C) formation of  vascular

bundle from cortex (C) zymase

(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above

102. The disease produced by fungus 105. If the diploid number of an
Ustilago is known as smut angiosperm plant is 24, the
because number of chromosomes in

(A) they produce sooty mass of pollen grain, endosperm and

integument will be respectively

spores

(B) their mycelium is black (A) 12, 36, 12

(C) the affected host becomes (B) 12, 36, 24
black

(C) 12, 24, 36
(D) More than one of the above

(D) More than one of the above
(E) None of the above

(E) None of the above

103. Plasmid is wused as carrier

because 106. When the pollen tube enters by
(A) it has antibiotic resistance integuments, then the process is
called
genes
(B) its both ends are replicating (A) porogamy
points

(B) mesogamy
(C) it can go between eukaryotic

and prokaryotic cells (C) chalazogamy

(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above
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107. Circular DNA molecule occurs in

108.

109.

(A) bacteria

(B) chloroplast

(C) mitochondria

(D) More than one of the above

(E) None of the above

Which one is the
unicellular organism?

largest

(A) Volvox

(B) Yeast

(C) Acetabularia

(D) More than one of the above

(E) None of the above

Which of the following is not
a purpose of transpiration?

(A) Helps in absorption and
transport in plants

(B) Prevents loss of water
(C) Cools leaves’ surface
(D) More than one of the above

(E) None of the above
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110. The spindle fibre contracts in

111.

112.

(A) metaphase I

(B) metaphase II

(C) anaphase II

(D) More than one of the above

(E) None of the above

Which of the following requires

carrier molecules during
transport through plasma
membrane?

(A) Facilitated diffusion
(B) Na*-K* transport

(C) Active transport of sugars
and amino acids

(D) More than one of the above

(E) None of the above

How many types of genotypes
are formed in F, progeny
obtained from self-pollination of
dihybrid F;?

(A) 6
B) 3
(C) 9

(D) More than one of the above

(E) None of the above
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(D) U | § TF ¥ Al (D) 39w | ¥ TH ¥ M
‘ a9y '
(E) 37 & & 18 T (E) 37 | ¥ *IE T
111. oA gt < wem 8 ufteed & dRE
108. W T UHhHIRTHT S HH-HT &7 P & & Pred T o @
. SATITIRAT Bl &7
(A)  Fiaiad
(A) gforen foror
(B) e (THR)
(B) Na®™-K* ufteea
(C) ufregeifen
(C) ek 3R 3 ufde w1 wiwa
(D) 39 | ¥ T ¥ ek o
(B) 3w & & 5 7 (D) vk i & o & v
(E) 3w d ¥ =I5 T
109. F=fafgd # & &H-w1 aTdcEsH H
Y
T 112. cEERfE F; % @WREW ¥ 9 F,
(A) I gl H Sraeir 3R aiEed § gafd & fohay TR % SfHTerEy o+a &7
Teg Ll 8 A 6
(B) ¥g Ut <t salet Uehel B B 3
(C) =g ufv=i &t Tdg = 31 T 2 © 9
(D) = 3 8w G e (D) s 8 &
(E) 39 d | =I5 T (B) 3w & & 1 T
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113. Which bacteria converts ammo- 116. Lenticular transpiration takes

nium salts into nitrite? place in

(A) Nitrobacter (A) fruits

(B) Nitrosomonas (B) woody stems

(C) Azotobacter (C) leaves

(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above

117. An example of a parasitic plant

114. Rackers particles are found in i ) ) o
that is also strictly epiphytic is

A) Golgi bod
A & Y (A) Cuscuta

(B) mitochondria (B) Viscum

(€) nucleus (C) Orobanche

(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above

115. Helotism is a term used for the 118.

Which among the following is an
symbiosis of

asexual mode in bryophytes?

(A) algae and bacteria (A) Budding

(B) algae and fungi (B) Fragmentation

(C) algae and bryophytes (C) Sporophyte formation

(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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113. HF-WT SEm] SHIHEH Tav hl AEEe 116. difegHer TS Bl @

T uftafda s 27

(A) el H
(A) TR .

(B) T8 o §
(B) rEgigmiarg o

(C) ufwen o
(C) TR

(D) 39w W | TH § Afh
(D) 39w | ¥ TH ¥ M

(E) 37d & & 18 T
(E) 3T | ¥ 18

117. wSEl 919 H TH ISR, SOYOid:
114. I %0 91T §d & ufuersies o 2, 7

(A) Terft ave & (A)  FEpel (TS )
(B) wrEereRit=g 4 (B) faesd
(C) iy o (C) 3TRIshT (=AT=IT)
(D) 39w W ¥ TH § Afh (D) 3w W | TH § AfUh
(E) 3w § | w15 T2 (E) 3wt & @ 18 7t

115. TAIESH U Tse &, o v fohaes 118. f=fdfad & 4 -6t sEwEe #

gesitad o fow foren strar 27 SrAfiren faem 27

(A) VETe IR SR INBEANEAREE

(B) ¥&TA 3R Fah (B) fa@ea

(C) e 3iR sTEwTEE (C) smogEsi

(D) 39w H ¥ UH ¥ M+ (D) 39w H ¥ UH ¥ 31fe+
(E) 3w H © *1E T (E) 3w & 15 T
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119. The archegonia of Funaria is

120.

121.

distinguished from that of Pinus
by the structure of

(A) long neck

(B) several neck canal cells
(C) stalked venter

(D) More than one of the above

(E) None of the above

Pigment phycocyanin and

phycoerythrin are found in

(A) Chlorophyceae

(B) Cyanophyceae

(C) Rhodophyceae

(D) More than one of the above

(E) None of the above

Enzymes have a very narrow
optimum for

(A) light

(B) temperature

(€) pH

(D) More than one of the above

(E) None of the above
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122. The most abundant intracellular

123.

124.

cation is

(A) K*

(B) Na*

(€) HT

(D) More than one of the above

(E) None of the above

Which one of the following is
wrongly matched?

(A) Root pressure—Guttation

(B) Puccinic—Smut

(C) Root—Exarch protoxylem

(D) More than one of the above

(E) None of the above

Synthesis of food in C4 pathway
occurs in chlorophyll of

(A) guard cells

(B) palisade cells

(C) bundle sheath

(D) More than one of the above

(E) None of the above



119. wHRF ST G5 o MUR W 7576 122. 99 T HET § AR G 8

¥ forg g i 27
A) KT
(A) <& T
B) Na™
(B) o Tt R R (B) Na
(C) Tda sigen ©) H*
(D) U & ¥ TE A Al (D) 3wtk # & T ¥ i
(E) 3w ¥ 15 T (E) 394w H ¥ &3 T

120. e BEREEET R BEHTRRE qm 123. frfafaa § @ wF-a1 Tea gafaa 27

ST 2
(A) ¥ TEE—IIH
(A) TR §
(B) weHAIfFI—e
(B) @IS o
‘ (C) Se—uaaT ierssead
(C) TSrwrsdt #
D T8 U Y el
(D) < & @ (B) v
. E i ¥ HE A
(E) wwiw i & B () v
L , 124. C4 AW H 9SH & Gy ek
121. ﬁ?ﬁ%&% fore =rga &t wehivt geaw et & g 37
(A) T (A) TeTh IR
(B) @ (B) aferdrg it
(€) pH (C) ==« 3ftx
(D) 3w | ¥ TF A Al (D) 3w W | TH § Afh
(E) 30w & & rg T (E) 393 & & g T
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125. The

126.

127.

common  characteristic
between bryophytes and
pteridophytes is

(A) vascularization

(B) independent sporophyte
(C) water for fertilization

(D) More than one of the above

(E) None of the above

Which of the following pairs is
not correctly matched?

(A) Abscisic acid—
Stomatal closure

(B) Gibberellic acid—Leaf fall
(C) Cytokinin—Cell division
(D) More than one of the above

(E) None of the above

Which of the
flagellated algae?

following is

(A) Chlamydomonas

(B) Ulothrix

(C) Spirogyra

(D) More than one of the above

(E) None of the above
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128. Amino acid binding site of tRNA

129.

130.

is

(A) S end

(B) anticodon

(C) -CCA 3" end

(D) More than one of the above

(E) None of the above

Total ATP production during
EMP pathway is

(A) 8 ATP molecules

(B) 24 ATP molecules

(C) 6 ATP molecules

(D) More than one of the above

(E) None of the above

Ectophloic siphonostele is found
in

(A) Adiantum

(B) Marsilea

(C) Botrychium

(D) More than one of the above

(E) None of the above



125. gEI%ES 3R fEwEe & fi= am= 128. tRNA 1 3 ufye smsfen aree 8

foriyan 2
(A) 5’ 31d
(A) TEEeRTT
B) ufderier
(B) Tdd TIRIHTEE (B)
(€) fem & fau ot (C) -CCA 3’ 3
(D) 39w H ¥ UH ¥ M+ (D) 39w U | UH A Afh
(E) 3w d ¥ =I5 T (E) Swth d ¥ =g T

126. fr=fafed § @ #F-a1 gm0 wd gafea 129. EMP #ri % €M $al ATP 3cured 8
T 27

(A) Tfstfires Tre—y @i &g M
(B) TStarferes wfg—uft i

(A) 8 ATP &1

(B) 24 ATP =1

(C) WTEErHTEHA—HITTeRT fasrs (C) 6 ATP a1
(D) 3 | O wF A Al (D) 3w & & 3 1fe
(E) 3w d ¥ =I5 T (B) S o & =I5 T

127. ffafga & @ @H-w1 s 130. THIHAEH TEEFEA TR ST 2

(wAfSeree) Srare 27

() T (A) e

(B) Ieafgad (B) afeferam &

(C) ErITTET (C) wiifr=m 8

(D) 3w & ¥ uh & afeek (D) 3tk # ¥ T @ i
(E) 30w & & 15 T (E) 393t & & g T
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131. The most primitive member in 134.

which roots are not present is
(A) Psilotum

(B) Rhynia

(C) Lycopodium

(D) More than one of the above

(E) None of the above

135.

132. The arrangement of chromo-
somes in the order of decreasing
length is termed as

(A) idiogram

(B) pedigree

(C) eugenetics

(D) More than one of the above

(E) None of the above

133. What is common in all three—
Funaria, Dryopteris and Ginkgo?

136.

(A) Independent gametophyte
(B) Presence of archegonia

(C) Well-developed vascular
system

(D) More than one of the above

(E) None of the above

True nucleus is absent in

(A) Mucor

(B) Vaucheria

(C) Volvox

(D) More than one of the above

(E) None of the above

Which one of the following
statements is wrong?

(A) Agar-agar is obtained from
Gelidium

(B) Algin and carrageenan are
products of algae

(C) Mannitol is stored food in
Rhodophyceae

(D) More than one of the above

(E) None of the above

Krebs’ cycle is called

(A) TCA cycle

(B) citric acid cycle

(C) tricarboxylic cycle

(D) More than one of the above

(E) None of the above
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131.

132.

133.

q onfen wew, e w2 Hisg T
g3

(A) @rEcred

(B) wEf

(C) eI

(D) 39w H ¥ UH ¥ M+
(E) Sudh # & *1S 7

TS o Fed hH H TUIEET ohl SIaET i
EZISIGIS

(A) sfemm

(B) aferft (srermerct)

(C) Iz

(D) 39w H ¥ UH ¥ M+
(E) 39tk # & #1$ T

WA, gReiE R e & A o
FIT G 27

(A) T A

(B) wfart it ufeafa
(C) ghemrfad Fae @
(D) 39w | ¥ TH ¥ M
(E) 39w # & &g T

24 /HV/M-2023-16/S5 (HS)/240-A

134. U= %5 A Al @

135.

136.

41 |CRI e

(A) = H

(B) ars@fm b

(C) dlcraieq |

(D) 30w W | TH § Afeh
(E) 3udth § & #1g T

frefaftaa & @ SH-91 e Tera 27
(A) SFR-3TR AfrfeFq | UTH Bial 2|

(B) UM 3R i e & 3carg
gl

(C) ufieia Usmwrdt d wuda WisH
21

(D) 39w | ¥ TH ¥ M=
(E) 37 | ¥ 15 e

e = I el ST 2

(A) TCA =%

(B) fufesh uftre =

(C) TSRSt =Ih
(D) 39w | ¥ UH ¥ M+
(E) 39w # & *I$ 7
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137. Kappa particles are related to

138.

139.

(A) nuclear inheritance
(B) cytoplasmic inheritance

(C) nucleo-cytoplasmic
inheritance

(D) More than one of the above

(E) None of the above

Mark the gymnosperm plant in
which archegonia is absent.

(A) Pinus

(B) Gnetum

(C) Ephedra

(D) More than one of the above

(E) None of the above

The organisms separated by
geographical barriers are termed
as

(A) sympatric population

(B) allopatric population

(C) parapatric population

(D) More than one of the above

(E) None of the above
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140. Hydrophyte with both hydro-

141.

142,

phytic and xerophytic traits is
(A) Agave

(B) Nerium

(C) Vallisneria

(D) More than one of the above

(E) None of the above

The most resistant biological
material is

(A) lignin

(B) suberin

(C) sporopollenin

(D) More than one of the above

(E) None of the above

Resin duct of gymnospermous
stem is the example of

(A) lysigenous cavity

(B) schizogenous cavity

(C) big vacuole

(D) More than one of the above

(E) None of the above



137. o1 %ol fhad Hafed 87 140. Sclgiyg 3R YERigfag A ST TJon areft

' ‘ STergfg, et 2
(A) e ST
. (A) erl
(B) wITTeRTs=t SATgafTehdl
. . (B) FAfkeH
(C) haehia-hIfTeRTE ST TR
(C) dferaifn

(D) 30w W | TH § Afh
(D) 3w W | TH § Al

(E) 39 o & 18 7
(E) 39w & & &8 T

138. 39 fomrd qtg = fafga fifsm, e

Sl Sgateer 2| 141. i e S e 2

(A) wrETE &) ffe

B 7 B) g

(©) (C) TARIH

(D) 3WF A AT @ e (D) v & w & aifi

(E) w3 3 e 7 (E) 39w & & &8 7
139. Hrifer st W 21em fopd T e

1 el ST 2 142. S a6 T it F1 38 7

() T sHeen (A) Rl e

(B) TRRF ST (B) fersifsa et

(C) ttifees e (C) =t fefehent

(D) 3 U | UH A Afh (D) 3 U | UH A Al

(E) 39w & & &g T (E) 39w & & *18 7
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143.

144.

145.

146.

An example of Pasteur effect is
(A) Penicillium

(B) Saccharomyces

(C) Bacillus

(D) More than one of the above
(E) None of the above

Cocaine
neurotransmitter transportation?

(A) Serotonin

(B) Acetylcholine

(C) Dopamine

(D) More than one of the above

(E) None of the above

The walking fern is so named
because

(A) its spores are able to walk

(B) it is dispersed
walking animals

through

(C) it propagates vegetatively by
its leaf tips

(D) More than one of the above

(E) None of the above

Polyembryony seen in Cycas is
(A) potential true polyembryony
(B) cleavage polyembryony

(C) adventive polyembryony
(D) More than one of the above

(E) None of the above
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interferes with which

147.

148.

149.

150.

Which of the following is
saprophytic angiosperm?

(A) Cuscuta

(B) Neottia

(C) Agaricus

(D) More than one of the above
(E) None of the above

The endosperm of gymnosperm
is

(A) triploid
(B) diploid
(C) haploid

(D) More than one of the above

(E) None of the above

Which one of the following is
considered as pioneer commu-
nity in xerarch?

(A) Annual herb stage

(B) Scrub stage

(C) Lichen stage

(D) More than one of the above

(E) None of the above

Roots are absent in

(A) Myriophyllum

(B) Ceratophyllum

(C) Utricularia

(D) More than one of the above

(E) None of the above



143.

144.

145.

146.

T2 I9TE 1 Ueh 3210 &
(A) affaferm

(B) @IS

(C) @i

(D) 39w | ¥ UH ¥ M+
(E) Sudth § & #1$ T

I o
Ll 27

(A) BT

(B) URATEAeRIATEA

(C) SrmHTEH

(D) 30w U | TH § Al
(E) 3udth # & 1S 7

TR W ohT UET AW ZE( T T,

Fifh

(A) 3T SSY] T § T B §

(B) I8 WeH Al SHeRl o HIeAw o
Hedr &

(C) J® 3ot ufwe & Tl g
e ®9 ¥ Y@ BT 8

(D) 39w | ¥ TH ¥ M
(E) 30 | ¥ 18 e

arHg 0 ford YRl Sgyurn oEt
STt &7

(A) T aTtaeh agYoTm
(B) SR sSgyUrdt

(C) Teafa sgywr

(D) 39w | ¥ UH ¥ M+
(E) 3w d 9 %5 T
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147. f=fafgds & @ ®F-w  gawstEt

148.

149.

150.

e 27

(A)  FEper (3FEA)

(B) f=ieam

(C) wiRwd

(D) 39w | ¥ TH ¥ M
(E) 3w & @ 18 7t

fSpetrerd =1 gordy 2

(a) Frfora

(B) fafra

(C) s

(D) 39y H ¥ TH ¥ M
(E) 3w & @ 18 Tt

frefafaa o o forg epgfg erawen §
STt ST W ST 87

(A) afiie der =

(B) MERR =01

(C) 3k =

(D) 39w | ¥ UH ¥ i
(E) 3udth § & #1g T

(A)  TIREIERET o

(B) IR |

(C) gdiwgeifer &

(D) 39w | ¥ UH ¥ M+
(E) S # & g e
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